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Passage:

Tpa:— rehferfad et ufean v fsearasaya: 3frdary Iw fuar ferad|

YSFAHAHIgT TSIIETH Hafd Tdui WMl IR | a1 Tergnai= giddt o O arg: Sy af | T IRAVHH RIFHEg Sar|| GaaiTorT sha- srariaid gfo fRmdme Temenidy sraaniie S JRId
YR WRHYYFAG S| ST HHAH SaRuIRT GRaaardial 9 siia-iuf:, afgan witm: s a1 fak sited anfig = oraf) 9 midenvsd wrumifey dfesany ar S forr sragR: gaied 7 Hafd)

T SNYAUIITY ARABRIVI T F AT fraredaan vad-a| SHarerg oift s orad Hafa| smgde -3 - A -t 3y RfrcmmeRsaft S Aewyyl WIH ddd | TaiaRol HaeRTs
MBI ST Yo TeH Hafd | TaiaR0) AR sitanrd Samfart Hafd) afgyd anfReRisrar TRy IRAGRT: easel: Hafxl | Safagmiaar: Jmd sifdaww Hafd| Afery dfseaiRastk
e |

Q.No: 1 it 3 ISk 91g: STy Ud HY safed=?

A TIHGIHTAT |
B g3

c TIHRTHIA |
D R

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Toba:— reNferdd meisr ufd@n v fAsearesea: IfRdary I far ferad|

JSANAIIgE USHAIRTS afa Sdut Wit IR | I weraema gid ofq dut: arg: STy Haf<i| UY ROy RIMHEgia S| GHayomT siae seriiaid s famme Tgmenyy SRIaaie saq RId
GRYD RANYFAG S| ST AT SaRYIOAT Saraidi 9 Sita-mf:, afgn mivm: swerrear: a1 fiR siew amfig 7 uRafRi g mifenusd Tmuiy afreasy ar sief e sragR: gared = waf)

T SMEAUIITY ARAGRIVI JefoTH F TASUN fraredaa Uad-d| SAEaRAE 3ft 35 oraad Hafd| 3mgde -3mgd - A -t sy Rfrcrmeisaft o Aewyyl W dJdd | JaiaRol GHaeRTs
1w S HIde: AgH Yaft | gafaRe) S Shoar semiard Hafi| afgss SaRisr TeRIg IRAPRT: SHse: YA | STafemiadR: Aed Siimyhad Hafd| dReuy direaieadi
Ericeor

Q.No: 2 HHaYRRY YR & Wy vafa?

A gyt
B el

c Eru(l
D SHIBTT: |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hopa:— Sfeliffee et ufdw@r vy fapaemmea: faa I fe frgal

JeTHIETYA Uy Hafd gdui mitmi TR | oy uwerya giid o a9 arg: STy Halwi| Uy WRAVYH RIFAIGSH ol hamior e siaidiada 3fa i gawendy sraaafi saq guia
YRYS TRINYHHE STe| STe AT SaRUTOHT SaadrelEl 9 Sia-msfd:, afgr witm: Sgearear: a1 fak s gy 7 uRafa ) amd Mienavsd WY afasady a sid fanT S1agR: gare 7 Hafd |

ST SWEAUIAYE IRAGRIVI AefcFI 9 TAVON fsarerdaar gacd- | Sy St s sraaw ol 3mgds -3ga - g - sy RiramerRaft sow Aewyyl ®IF Tl gafavor gaaeRTs
Wi ey Sae YHde: TEH Hafd | TaiaRy SR Siiad Sadart Hafa | afesd SRie e TeRIkg IRABRT: qusgl: Hal | SafagmadR: Jmid Siaeyadd Yafd| IReTAy dibaaieddic
e |

Q.No: 3 A - 3% v ud fbp?

A gt
B Wt
c eS|

— ~
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SRt ai S e R adia i St e i e i o O L i e R Y it i A
D IR

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Heba:— el et ufdan wui fasearaeava: Sfidary Iw fua ferad|

AGFAHAIIYA TS Haf Tdui WOMT IR | aif Tgeiya= givdt 3 et arg: STy Haf~i | UY IRAVH RIFHEEH SIaH| GaeyTorT sha- sraniaid 3fa famame Temerdy sraanfig s gRIT
YR AV T STd AT SARWIOFT IRGAdIGHT 9 Sia-irfd:, afgan wivm: Jwerdrer: a1 fork sha aufid 7 urafa | I migeHvsd WHUMIeY Afudasy a1 o famr oragR: g 7 vafd|

ST SRS JIRABRIOT JeoFM T 9o frarasdan Tad=t | Sy8aamaam il sa sraad yafki1 3mgde -3gd - gAY -giiw saay Rfarmersafy s aeayul RiF add| gafaRo) SaaeRT:
Wi Py SR YHc: TEH Hafd | Taia0 TR Siiaa™ Safar] Hafd|l fgsd JReRiar-ar TeRINg IRABRE: Gusigl Ml | SafauHiadR: AW Siaeuadd Hald| IeTAy dfsaaieddic
e |

(o)) To T S — Dirraieapioy 7 SafagmHaaR: i
A ESIEpRL(]

B RO

c WRFTAYI

D EEseai(

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Toba:— srelforiad Tenet ufe@n vuri fasearamaya: Sfdaay Iw fuar ferad|

FS AT ARG Hafa SduT WivMHT IR | 1 Tawenai g o do: arg: STy Haf~i | TY TRAVT RIFMAEE Sa| SHauom siiae Semsiaid gio fama Tamengly SRIaHie saq [1_d
YRYA REYUFAT S| STd HATHE SRR TRIadrdiAi 9 sitansfy:, afgam widm: wwerdear: a fok she amfig 7 uraf amrd miganvsa Tramfey dfewaay a1 s faqr sragr: gured T Hafd|

T SRS ARAGRIVT FeloFH T 9ot fharadaan Tad- | SyKame-rg ot $aq srad yafd| Smgd -igd - A1 -gidl Sy b aameraiy Saw Agayyl RIF add | Tafao] SHaeRTt
Mfw R S Yo TEH Al | a0 SR Sitard Samfart Hafd) afgwd SnfRe R TeRIkg IRASRT: casgl: Hafxt | SafagHaaR: S siasyedw Yol ARery diheafeadi
e |

Q.No: 5 Tdui WivMT IRK Fiex Hafa?

A U
B TR
C Ertenl
D 3R

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

opa:— SNl izt ufden wami faseaesrea: Ifadm Sw fawar fraal

FEAHAIIgE THAIETS af SduT Mo SRR | 1 TaHena givd ofq at: arg: Semy Haf<i| T ROy RMHaed S| GHauom sia- seriaad s faa- Tgmeny SRIaaie sy RId
GRYD RAVFHG S| ST AN SaRYIOAT SRaaaidi 9 S, afgHm witm: geredrear: a1 fok siaw amfig 7 uRaf<y| ansrd mMigenued SRy amfmasy ar ot famr sagR: gure = yaf

T AU RAGRIVN JeITFT ° A0 frarerdaan Tad-d | Sa8aurm oft Ser oFaad yafd | 3mgds -3igd - T -t 3y RfSaRmeRal S ag@yyl R add | gafavo YhauRT
MBI ST Yo TR YA | TR0 SR Siamg Saaart Hafdl Iy aeRicr-ar TeRIkg TRABRT: Gasigl: Hafxy | SaagHiaaR: Wi Siisyee Hafd| IRemy diheaieadic
iR |

Q.No: 6 FyEUREAME i 3 sfFan vafal fe?

A Lt
B T
C el
D FauT

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tha:— relifraed Tt ufan wai faseaae va: Sfdan Iw fuar foradl
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JEAHAIIYd UHAIeRS At SauT W01 IR | A1 TRHen{@ gird ofq aot: arg: STy Hafi | TF ROV RIMHEgd STa| Shayom siia- sersiaid sio o Tgmen iy SRIaHie saq )Id
GRYD TRANYFHG S| ST AFET SaRUIOHT SRaarardi 9 Sita-rs:, afgsm mivm: swrerdear: a1 fak siaw amfig 7 uRafRi e migenusa Amuiey aifmany ar st famr saagr: gae 7 #af)

T AU RAGRIVH JeITFI ° TAV0Nf frarerdsaan Tad-d | Syaur T oif Sgr oFaad yafd | 3rgds -oigd - g -t Sy RfaRmeRal S ag@yyl RIF Jdd | gafavo YeauRT
M ST YHde: TR A | TaiaR0 SR Siamg Saaart Hafdl Iy S e Risr-ar TeRIkg TRABRT: Gasigl: Hafxy | SaagHiaaR: Wi Siisyed Hafd| IReTAy diheaieadic
Eiceo il

Q.No: 7 3eri 3@ wged ue o feraal

A it
B it nl|
c RFHI
D U

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toba:— HelifRaed el ufan wai faseaaeaea: Siadan Iw fuar forad|

YTAHAHIY U Hafd gdui witm =it | f ugmen@ gfidl o aw: arg: sty Al Y WAV RIFHEGT SioH | GeawiorT siad stadiaia sfa e ugmeny sRiaafi o 1
YRYD RAVYFHG S| ST AT SaRWIOHT SRacraidi 9 S, afgsm mitm: Teedrear: a1 fok siaw anfig 7 uRafxi| Qs Migenvsd JRurey amfmany ar s famr sagR: gure 7 yaf|

Ser SeUIfav) RESRIVT JRIcHI 9 Aoty fharerdsaar vad= | SydauRmn i $aH sriaH Hafdl omgds -osd - g -Sifte 30y fafbarameriafy s Aewaqul RiF add | qafavdl gaaeRTs
i faeTam Serg THIae: B Hafd | Tafavet T Shar Sremfvard Hafa | afgss SfsRisTar ey IRASRT: cusg: Haf | STafemiadR: Wrd Siieyaad yafd| ey dfseaieadt
Etiesll

Q.No: 8 UfAURMM: - 37 : Ter: TRYa:?

A TR
B wag|
c T

D Ruce(

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Hopa:— et verst ufdwn wym faserasaa: Ifdary 3w fr foad|

TR IAHM IR, Ugen wifasriow
AR A R 8z, Regromezaa el

Q.No: 9 TS H& T<u: FaNT: 3% ?

A Ao Sad:
B ELECEIGTH
(of AIRTGT:

D ELEIRETE

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Toba:— relforfad Terel ufea@n wami faseurereavsa: Sfadany ST faar forad |

REpAT I TffaH, vggar uifasduw
qaR A1 AR O, RegrumenTda dean

Q.No: 10 "gHfA" S qaea: & --

A qaf
B T
c Tt
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e . St T g R g S R S S

D qH

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Heba:— el eIl ufsa@n wemT fas e ravia: Sfdany S frar foad |

REpAT g wiffaH, geggar wiiaergw
qaR AT AR 97, [egumenmda deii

Q.No: 11 "GT&pel:" 3UF B Wedd: UYT: ?

A g
B Gl
[o} &
D wq

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:
b~ reliforiad Terel ufown weT fadeurete ravsa: Sfdany S ferar foad |

REpAT IAHM TS, UG unaEHuw|
qgaR A1 AR 97, RgumenTda e

Q.No: 12 "qiffg" 3o &1 faufd: »

A i
B i
c fexefan
D Tt

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Toba:— eNfofad waei ufdmn vl Recres avsa: Siidam 3w R firad |

Rl I TR, Teggar nifasfue
e 91 e 8:, fagumenag dan

Q.No: 13 "R 3 &: THR: Uga: ?

A W
B ferg
c T
D L5

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hoba:— Hrelfofad wesi ufean v s e sa: Sfidany 3w e frad |

gl deift wffaH, yeggar mifaeroem
a1 AR 87, fegamermia geii

Q.No: 14 i S e garg =y f&?

A Riell
B aﬁ:
c Gl

~
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TR e, SIS S S S T g R g S R S S

D TaRS
Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Heba:— reNforad eIl ufsa@n wemT fas e ravia: Sfdany 3w frar forad |

REpAT g wiffaH, geggar wiiaergw
qaR AT AR 97, [egumenmda deii

Q.No: 15 91" Weg: F W:

A &
B R IC)
c o
D T

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 16 ’---- YR: forai faar 3 Yot Reawm % o sqfuay

A o
B M
(o M
D I

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 HUSRFRI quf: AR -

A t3
B g
C a
D T

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 gua: 3fd frurgw dicaer uRafdaed fame

A Tl
B T
c Gt
D it

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 19 IHSHIR SIaGW: e Hiadl: Ja-d?

A TS DAN:
B TGS
c IR e iar:
D UTRBIAT:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 20 3HefAfRAY &: SFad HYUTH KT

A YRR W: 7 Haf

B ot (Sielt) et wafy ot fefEaumamn: sfem ga uaditar wafy
[ At W1 Tt Ry 7 A we

D yel: 4 fadbe:

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 21 fEffIREAY T ST aTereh: Ufdg A TFfa?
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o B e R T TR S e e T T T T T e e 4 —
A g far

B TRigfeb T

C o

D fftrt foem

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 22 Tt Rieorawd SHEn: $EA v g=fal dar Rew: & gafqe
A BEF doial SRR A § gEea:

B eI W gt FareATe w5 gafq
c TRV T T Pl MGT-TA Fa
D eI Fai vy faferer srafem iR wdwi Aut s Faiql

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 23 fRierep: MU AW ferafa, s vaf, T Fw Sivaw faem: wafd--

A UTORH IR
B LCEGANGEH
¢ AT IR
D HATDH IR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 24 Riefe: SRR SEIUT Fd ThiAGR! fawa: el gxfadt aq S=d -

A vafd arElt

B Bremand wrEh
c A arft
D fersmanht anrdht

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 25 71 urs LY qu1 FHumar: gt ® deiig qotamarar: Rifgme sar Rk | ow: srefea: aem shwf ---

A srefaufas (comprehensible input)

B AT A IR AP

(o EiSIEH m'{ﬂﬂﬁﬁl{ (maximizing students talking time)
D yoAEEY (reading comprehension)

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 26 faenfd: a1 Ue FHrIUGDIRIAAET: T AR T Ie%ar &I I U6+ Head---

A AP USTH (extensive reading)
B UIAISH (pre-reading)
C UYTdo-H (post-reading)

D ﬂ‘ﬂ'{'m'ﬁ[ (intensive reading)

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 27 HIUI-HEHY Sfa:fharetadmd sia:fharerds 1 Faadt 3@ sifimm: oif&y

A fremrere sryar uRazRg quig

B 3: g gRHufEat

c FAPHIRGI SrdaT RIFFR SrYaT JaeAM! gy
D i forer Rt a1 wiomT wEig TR

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 28 A5} FraMT HIwIfAs: fafi: vafy Jan sifirond &: nfafafy: wf: 2

A TSR eaHHT HTSontY

B ES: T T UG SRV TEHH|
c BEAVT GRTSURT TR0l freerom =1
D TRER GO TieeTH|
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e . St T g R g S R S S

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 29 YRa= HWIRIEIR: ...

A BryrRErRsTr
B TRHTIRI&ORSY0T
C fRreman: aifrERE 0T

D EEIREnGIGea )
Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 30 HGHIYIRG: SEHTNEIG: TH

A HIGHISAT Tq SHRT:

B RTeafRIE O SR AIGHISTIRISUR]

c TIHISAT 3R TEHT HTSI0T Wiy Sehaory

D YR SR A g Mo i

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 Tiepiidi &1 uIT P weell & W far o =Ry, FHifs

A Tl B TgTar & - Ria 1 goT SRR §
B Wit T o1 Wb &
c Faa Qe & Hew J URARE T @) Rier & o Iod 81

D T T Wi fawarelf & uftfia @9
Correct Ans : D
Subject : Hindi Bhasha 01

QNo:32 A @ g PR eI ___ 8

A T Y S-S U F GG UgaTT WY SR R Upiet 1 HEA &
B THiP! B T8 TR Y Uga 3T 3R BeT & Rigd gara gg

c e @ v g W gud §Ig

b e @ W IR TS A g

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 33 4T &1 J&F Teh gl §-

A TS BRI
B AR
C o R
D e

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 34 FHRVI-FAE0T T AT TR W I # wgES gl
A T 1 e T @Y s@ie wew

B TS T UFTa, VET SR A Faw! 3t Fowr Fe

(c B P GRS P H3W FAT

D T Y e vefa 3 g iR SueT fasdwor FRA

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 35 3 & § wW Bzl & T ygd g Ha o1 s o afe?
A a1 BT

B X HT
C IR F
D TR TF AG HT

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 36 = & § 98 P areF & S T § W el B, W U F eI

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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C
D

SRV T

FHId e
STHRV] T THIT qrE
A 9

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 37 = & & w1 faerar & form o amawas 2

A
B
C
D

i &1 99

fo=mrera s

g & Faa == A

forerrera S Ud RIe® & o= AT

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 38 fm & § 9@ 31 NI T T Ipd & &

A
B
C
D

Fad TRER &1

Faa A BT

Faa faemea &

URGR &1, TH &1 T4 faemaa &1

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 39 A= & { g udivrar Ui &= 34 faene & $ fhargan &1 SrEieH A1 fgu ?

A
B
C
D

Faa ar-faar 1
FaE U HT

Faq HTERT BT

T, 3TIERT T are-faarg @11

Correct Ans : D

Subject : Hindi Bhasha 01

%1 4NEH gl

Tl e i e B

Q.No: 40 yargHw Mi@® siftcafd 3 te Agaygy ke 81 Fofifa 7 § e yaremrar &1 94y gaffis 32

A
B
C
D

TrteTd R T RIPER ST e e

FEART T & TART & Y- SivEfor Weal @1 off wafe v S
form gl & Sfua wam @ sifterfes & v Ty

TR Y HTST BT TGN HAT

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 ‘Ig UeII’, ‘ST T’ 3R ‘I dRan1” S |7 vt &2

A
B
C
D

o o ey A g
from ey 7 T

Pt @1 Sifey wERAwR
Fraw o1 Swie

Correct Ans : C
Subject : Hindi Bhasha 01

QNo: 42 yris RN A s dardl
A e

B T

c Kseited

D e T YEE

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 efifasH & w32

A
B
C
D

5 SR 7 wgHar i g1

T e & wgran et ¥

& U & Ferar frerdt g1

5 TG & TI-TR Y U F Terrar vl 21

Correct Ans : A
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SRt ai S e T R R R TR R e S T S T Sy Tl TSGR S S SRR S T R g n R ST s TSI Gy, ST

Subject : Hindi Bhasha 01

Q.No: 44 ST BT YUITelt ITIH € -

A T SR
B FEHY Fisd
C A Fia

D DY Hiwd Td a1 Biidt
Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 45 ‘SR’ B 'ZWR’ Tl [Hd UPR & IR SN BT ISR 87

A wWR-ufd

B WR-d

c R

D TR Td TR

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= i o e wRiw B ugeR g TN U & WEd 3fad SaR I fawed 1 9 Fifoig-

A # Pell 3T 1 B Bl geR A T P AFEHA], S WRHT FY YR S €, Iu! o 7 off srgya weRa, Sgar 7 off orgd meRar, wdear # of e sdar Wy @ et 71 el @51 a6 aniee &
A 1 §ad 81 3§ Yobdl| T IR &1 3R $s &l A =7 a1 31 fell @le, uae, 3¢ ad 1 YRIVATE pd diea oral bl ufsaawiemd) woei o silisll & wieH aagar 3d Y7 aafdia &1 Sl U IHeh
P14 Aied Gl AUl Hiurar SR TR, HIHAA 3R HERdT, Hedl AR TR, TSl 3R TRl &1 Ao & dieud o1 died 7 ot $f3 areifes 3t arfi gt Sied & Seure weiad &1 sy Tt 71
geraR gl 1 o 3R HE #) ug S et Sl amTd 3 UeT 9 Bsdl g8 Fed! B S99 S gaR uma aRfied, S, SR, A 3afS Ht 7adl §; Ay, TRIGR IR« &1 7=y ff Tl g1 W AR UG,
Q?ﬁmﬁ;h'@zﬁthﬂﬁﬁwmﬁi?luﬁﬁu—éﬁsh"\raﬂgamam%,mmaﬁ?wmmzﬁsﬁﬁﬂﬁ@ﬁu@?ﬁ%luﬁﬁﬁaﬁ?ﬁmmmamaﬁ?wmwmwmm%lm%m
@1 51 &1 Hicy wwe faan

Q.No: 46 Iuded iRl & ferw 1 # 9§ Sfera ifes &1 =1 ifre-

A T 9t amoft

B YIS 3R HeRal

c *fiorar SR R

D Tl & oy @1 Wed

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
e 2 o T T B UgeR U N URAl & TeY IRd SR aId fadwed B 99 Bifeng-

A A Fell gu @) BT &) ger A s B s, S U Y YR B 8, I9@) Hiwvrar J o ergyd eteRar, sgar 3 o ergd gyRar, veear 3 B el sidar wry @l et 31 faws) @1 ud) wnier &
TS 1 ged eI 8 Gahdll 39 JHoRd $1 3R % Tl § 524 Sia1 31 fbdll Fe, Uaqd, 8¢ a1 B URIATE 5pd aldd SaT fordl ufEaawerst Goor ol et ¥ wied agar ¢d g7 sfad ol S U6 a0
1 ug) ied JueE Fifte) v ik [T, HIHA 3R FRdI, Heal AR HYRdl, Y=Sdl 3R HeRdl &1 ArHed & dided o1 died § oifg o3 aredifes # anlt 3l died & Igared ndiia &1 s wfta 21
BT BIT 81 4 3R Te i a8 Wi srenf SfR STa 3 UeT B tisd g% Wed! ¥ 399 B SAR A Sfiied, ST, SR, T gae H wadl §; A9, SRR SR ¥ &1 e o aa §1 R R Wi,
a‘nﬁmﬂﬁiﬁtﬂﬂﬂﬁwmﬁ%luﬁwmmwmé,?ﬁmamwsmmzfﬁﬂﬁﬁf&@%qsﬁ?%luﬁmmmaﬂ?m%ﬁﬁmwmmmmmwélmﬁm
31 o F Aied g feam

Q.No: 47 IUYa TN & SIUR, FHAA P Hicd A H F fFar g 2

A fRef et & anore #
B e ¥

c Ay U4 FRIHR |

D YRTVATE G&pd H

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
= R g T TRIY P Uga} 4P Y UKl & e Ifud SR A fawe &1 79 Pifie-

e 7 Pell 3@ @) BTN Bl FoH W 5 P A1, W WRIHT FY YRV HCA ¢, Iu1 Hfworer 7 off eigya wAeRa, dgar 7 o sigd meRar, weear # f e smstar wry o et 71 et @1 7 anie &
TS 1 §eg 81 X§ Uil T G &1 SR &8 wul A 27 9 31 Rl @e, uae, B¢ ad 3 URIMaE 9pd e sryar el ufdaamiurd) woo 9 ol ® wieH aear 3d Y7 safdid 31 9l US gHh
F1 g5} i Tl Ifeul 2RVurar SR SR, P R FORAI, Hgdl AR TeRdT, TSl R TRl S I 8 dieyd o Gied § ofd $ia ardifs ot amft 3t Jied & Squred mgiae ot fea i 31
TemaR BXT ¢ o 3R He Bt ag s srend SiR ST 3 weT Bt wisd gE Fed! ¥1 3O B AR U 3Rdied, ST, SR, T gane H Tadr §; A9, SRR SR ¥ 31 exd of @ §1 R R Wi,
%ﬁmﬁﬁiﬁmzﬂmmélmmmmmmammmmmme@mmm%mﬁmmmmmammwmmmmmm%umw
Eikcekal v faan

Q.No: 48 IUYHI TN & STAR, TN A 3O T e % wRva 3R wf B S o1 Gied vger
A LECac
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 9/42
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B Eecacs)

c Leace]

D HusH1g

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
P 2 o U i B ugeR U TN URAl & TEd IR SR a1 fAbed B 999 Pifon-

die # Tell g 31 T B geR A I Y SiFeHa, N Wy FY YRV S 7, 391 Hivurar § +f srgyd meeRar, dgar § Hf orgd AyRan, vdsar A el sikar wry ol el 31 ol @ ud wniea &
T 1 ged eI ¢ Gadll 39 o $1 3R % Tl J 52 oIl ¢l [Pl Pie, Uaqy, 8¢ a1 S URIATE 5pd aldd SyaT frdl UfSaagerst Goo ol Sfiiell & Wiey agar ¢d g dfaad ol o U6 90T
BT e} Wit THFET AR 2RVUrET SR TR, P AR BSRAT, Fgal AR AR, TSl AR TYRT D1 T 8 diwyr o e § o1t S arciiies 351 amht 3t Jied & Igured meiwd of e wila g1
TeTaR BT g1 4 3R T Bt g Wi 3ienf SiR SiTa 3 ueT B Wisdl g% Wed! ¥ 3UY $IA gAR A 3Riied, ST, SR, TN gate H wadl §; AN, SRR SR ©¥ 31 vy +f |11 §1 R IR Wi,
%mﬁ%maawmﬁuuﬁmmmwmammmwmmz@wmm@qﬁmﬁmmmmaamwmmmwmm%umw
31 o1 T G ueef fasam

Q.No: 49 IUYa Tl & HTER, T B F e U F1 997 Ffrg-

A R SR TR, P IR BRI, Bl AR TR, FESdr AR TR BI Pad G 8 APy o died T R
B o 3 off 3gR “swror” # arenf & g SR of @t o 1 died v R

(o4 Ife fpeft 3R Ig waeia U9 €, 6 3P IR 99 SR B e et R usd ¥

D Wi A et gE B O Y geR F T N SFeHdl, S KT FY YR B 21

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e T g g TR Y UgeR g Y WAl & HEY I SR aKd faded Bl 99 diferg-

e & Bl g B 91 B g H 57 BT AFGHA1, S AR Y YR Bl 2, IG@! iworar F o sigya meeRar, dgar §  srgd AeRar, wasar & f wedt srar wry ot gt 71 fows 1 o8t wne &
T F1 g 81 X§ Il 39 T &7 AR 33 =l A g2 g g1 e Fe, uaey, B ad 3 4RIvare Gpd aie sar it dfaawiers) Toor o el & WieH gagar 39 G fdkid 31 ol U6 9HDh
PT T5) e Tl ATl RNurr SR TR, PHAT AR HSRAI, Hgdl AR TR, TSl iR TRl S THA & dlwut &1 ey § ofe $ia aredifes o1 amft 3 Jied & Igured mgiee o1 fea i 31
BT Bl ¢ o SR T B a8 i arent IR ST &1 weT Y Wigh §E Wed! 81 39 B gUR W Sried, ST, SfATOR, FAN g ot Tl §; A, FRER SR @ $1 v o e §1 W R Wi,
¥ faera A g 1 3Q UiT S B Al ) ok I Sacid AW g, o 3P SR Ua SR vl 2P el fawrs usd 21 afe fanil ol e SR BRIHR 3, A oiR W oIk IudT e e IR weml 31 3w A ol
3t o1g &1 Wil ywef o

Q.No: 50 IuYa TR ¥ SHFER, U R TR, B! 3R HSRI, Hgal 3R AR, Tl 3R ARl &7 Frord g Hl
A e a1 e

B e &7 Gied

c T o1 died

D v &1 e

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
= R fou T TS B UgaR U U Ul & ed Ifud Sak ard fade &1 a9 Pifoe-

A # Tl g o T B geR A I P DA, S R FY YR Sl ¢, It 2fworer 7 oft srgaya wHgRan, Sgar 7 off sigd meRar, weear # of med sndar Wy aht gt B fawst @1 o€ wnive &
T $1 g&d Tel I8 Tadll 3H Ao T 3R % T & a2 e 21 f5fl Pie, uaed, 3¢ a1d 31 URINaTE IRGd aiad orya frdt ufeaawurdt oo &1 oifich § wiey qaqgar 3 g7 Afdda o1 ot T 90T
P14 Ficd Gl AT Hiuvrar SR TR, S SR FORdT, Beal SR HYRAT, TSl SR ARl 1 Grierd 8 dreyd o1 S 7 of Hi3 areifes 3t arfl 3t Sied & Squred weied @1 e Wit 71
geraR Bl 31 o 3R HE 9 ug MY et SR st @) weT 9 sl g8 Ged 31 S8 o ghR e sRiied, S, SR, RN SISt Tadr §; Ay, TRIGR R = &1 T ff 9l g1 W AR A,
a;ﬁmﬁ%maammaal%mnmmaﬂamaammmmme@wmﬁmaummmmmmaammmmmmmw%umw
P 59 1 Hied gae

Q.No: 51 4 & § $H-UI eg WIHG BT Tigart 2

A g
B RIS
C Eic
D LIRCIGES

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
= R e U T B ugeR g e Ul & HaY IR SR aKd faded B 99 $iforg-

e & el 38 B S B g T 571 31 SHFGHA], Sl Aaad FY YRU Bl 5, S9! Hiworar § o ergya Tl Sgar § o sgd AeRar, weiea & f Ted srgar wry @it 5t 31 fowsl @1 98 I &
T F1 ged Tel X8 Gahdl| 39 Yo 1 3R &3 &uf & 72 S 31 frwlt Fie, uaqd, ¥ 10 &Y YRIiaTe TRpd aiad sryd fredt ufSaamiurdt weor @1 Silioh § wiTeH qaaT 3 g7 Afeid T it U IHaT
1 Tg) Ui GHFT ART) Huvren SR TR, ST SR HSRa, HEAT 3R AT, Tsdr SR el &1 e & diaerd &1 Wi § o1t 53 aefife 3t amft 3 died & Igurer weica &1 faar it 21
TR Bl g1 o SR Tt a°F gy wEif srenf SR ST @1 weT i wiseh g% Fed! €1 39 SiY gR U orbied, S, SfATaR, FaN gt o YEdl §; A, FRER SR @Y F1 e f @ 31 W R Wi,

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/42
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i et e e i T gy T —yy gl R g " — B

¥ faera & @ 9 3 U 9 B 3l R ol Saed AW 7, ol ITF SR GG SR H0 efP el s usht ¥1 o forddt oik i ofR SIeTeR §, o oiR ua SR gt Tl & oiR e §1 g A o
3 w9 &1 Gied e faan

W &

Q.No: 52 fAmfafed & 9 “siamER” 2eg & Wga SUw &1 997 Hiforg-

A ¥
B TR
c affer
D AR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

A D e T T B ugER g ey & Ted S SaR A faded @1 9 Sifer-

e & el 38 3 O/ B g T 57 BT SAFGHA], S AT FY YR Bl g, Ig@1 iworar F o sigya TRl Hgar § ot sod AsRar, weear # f med srgar wry ol 5t 71 fowsl o1 98 e &
T BT §&d el ¢ Gl 3H o BT 3R 33 ST # 524 gi o1 fddl Fle, uaed, ¥ a1 3 URIaTg Twpa alad $ar ol diEaamard goor o1 sl # wied augar 3 7 safwid o St U6 9T
P1 T5) el qHF1 AMfeTl N0 SR TR, PHA AR HSRI, Hedl AR TR, TSl R TRl S THO & AiduT o el § ofife $ia dredies S amit 3ul Jied & Iqured Hgiaid ol fgod Id 3
TR Bl g1 o SfR Tt #t g7 i srenf TR ST Ft weT Y wigh g% Wed! €1 39 S TR U orbied, ST, SfATaR, FIN g ot YEdl B; A, FRER R @Y F1 e f @ 81 W R WG,
% famma A @ 9m Q U o §1 9l [ oiR I Sawd A9 7, o SUd SR U ok Sul ) el farars usdl 31 afg ot ok @ SR BRI 3, dl SiR W9 Sk SudT Sl 8 3R wedmr g1 on 1 o
3 o1g BT Wil g faman

Q.No: 53 fafafea # & frw weg-gm &1 wam Swja e # far g2

A TEA-Ted
B fiR-fidR
C eI~ 9el
D EEES)

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

S I B TG U T T % Y SFId Sk aTel facbed &1 90 Fife-
31a BT GRDT-GHPT BTG

TG UETST S|

T Gawl-Hap, fera

T URTST 1SSt

et <fd FoR g3

S S, 99 o YH-4F
FHYH-PYD URT Sial

& rgT el

fagR fdik gfs, P&

e Wt

FER i1, OB JeR el
TH-T I

w4 g1 fearny

g anferan forzn, famn fmrd

B BTeT 1Sl |

I TP, T A A TR
THoaP! Uell TR 3T Hl SRR
STl PRI ST A
fereen gt Sl

Q.No: 54 fam & & Iufa ikl & fyaan &1 9m Fase-

A el AR TR
B Sy st
C T Bret

D T v fRadt

Correct Ans : B
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/42
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Passage:

S FIIY Y TgIR g MY T F Gad SRId SaR a1l e &1 997 -
3 BT JIDT-TPT PIST

U1 UGTST HIESh

T el o

T URTST HIgol|

feeeh <fa FoRk g@-g@

S ofid, @ off yP-ydb
FEI-FHID TR I

& SreT WSl

fage ek dfs, M A

e gmat

3R W9, R IR e
TW-TW ST

w4 8 femry

B8 i R, o Rl

B IeT Ml |
EREEISHE A R
THTTHT Yol TR 3 BTSSR
ol GRS S o

feree ST WSSt

Q.No: 55 3 & & by Trea-gm &1 WART Suded ufckral 7 e s ar @7

A TI-gP

B fareen- e
c YP-Y>

D IPIP-FHYIP

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

P& BT BT UGHR IS Y UL B GO IR I a1 fabed B TG BIo-
3 BT PTG PG

e TRTST R

T T, fora

T TRTST HIESh

et gfd Fik To-3

S Sffd, wed o yF-yE
FPIP-GPIP IRT S

&% sre1 w1

fagr fadR gfs, P&

e gl

R W, R IR S
Tw-T ST

54 8 feary

B anferan fiye, e ot

B HleT HIESH |

YA TP, T 7 TR
FHTFDI Yol TR ] P SR
P P A A

fRreeT ST WS

Q.No: 56 = & ¥ QR w1t &1 o qazT-
A a5 il foraeT udlt R a8
B % & GRIT SN AHT T &Y

== e Rl =R e S

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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e . St T g R g S R S S

c QB YooY IVIPI 4@l HR IR Bl

D 39 ¥ T o wior & aren
Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

R T BT UG Y T TRAl & HaY IFd SaR dKd [ddbed Bl 997 Pifer-
S 1 G-I BTN
RERRS KR

I gl o

T URIST HTgei|

feeeh <fa Fik g@-g@

S o, 99 o YH-4F
FHYS-FPYP TR A

& g el

fage faek dis, M J

TR W, R IR S

<el-e I

S 8 Ay
&St for, foe fommrdy

B el HIEH |

Szl P, Tl 5l A A
BHoTD] Yol TR 3T HI SISR
el HER S
[ERUEEISIRIER ]

Q.No: 57 = & § Sy & SH- 9 82

A o S
B 4 wfYy
(e o7 S
D 7oy |y

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

T oA BT UgHR Y Y TR & Wl Sfud IaR dTel [dbed P agq Bieg-
3 BT GPT- Tl BIgH

TG TETST HIS |

T T T, fore

T TETST HTSSi|

faeeh afa Fik T-g@

S S, 9a S Y&-4H
FhIH-GHYD URT SIA

b 31g el

fagz faeR g1, s A

e @i

FeR WTel, O IR wirel
<Tw-T STt

S g ey

& afran foan, fom o

B Hlel 1SSl |

S Wl Tl 5 A AR
BHTTPT Yol TR 3T I SISTR
Tl FEE S
[EUEISRYEE]

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 58 = & § ‘Ser &1 o @ 32

A 75 g Foreil aga i wseht 2N

B g g fored Tgd i gl gl

c a5 g fore sga T & wry-ary o g g
D g 5 fored sigd S5 usdl | |

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

T IO BT U P T U & a9 S IR a1l fAded 31 9ae Bifvig-
3d BT JIBT-GPT PTG

TG TSI HIe|

T -1, fored

T TRIST HISoH|

faeeh 3fa Fok go-g@

i Sffd, Jad off yb-yd
YHYH-JHYD URT SIA

B SreT Hrgefl|

fagR faek €13, &7 3

FR W, R IR &

e STt

ST B Ay

&€ aftran R, famm fommd

B P1gT WISl |

g Wi, Tl 5§ A
BHTTP! Yol TR 3 HI SISTR
Tl P S

[ERUIS YRR

Q.No: 59 e & § APIfda "I BT 3fen Hg F I @1 37 H1 et o1f FARY-
A 3T TR B 9 G B TR qe gl Bl

B Sl aif & U § sranor
c Hg a9 TG G W 2 T T g
D T e F g g ot w7 e

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

FE=T: FToI Bl Uga Y MY TR & Ha IR IR A fadwed 1 go Pifore-
31 T DTG IS
TG TETST HIESh |

I JapT-gopl, feran
T TRIST HTEoH

faeeh afa Pk go-g@
S S, 9ad S Y-4F
FPYF-YPYP URT S
&% srg1 urell

fagR ok €15, &7 A
TR W, Y IR S
<l Sref

S 8 Ay

g e fian, fm Rt
B PrgT HIES|

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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A P, Tl A 9 AR
THBIDT GoTl IR ST B SISTER
Bl §RRIE &t
e SIST IS

T e g R RSO T S T gy Tl e e S SRR S ——

Q.No: 60 1 ¥ § yda=® I Wg ST T Difore-

A G5l
B wfa
c Licii
D fereeT

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 61 What is the smallest number to be added to 1000, so that 45 divide the sum exactly?
2467056

g SIS A B T 1A A € o 1000 F Siet Se, R 45 9 @ gui w0 § faufsa a2

35
A

35

80
B

80

20
c

20

10
D

10

Correct Ans : A

Subject : Mathematics

Q.No: 62 The ratio of the present ages of Anubha and her mother is 1 : 2. After 6 years from now, the ratio of their ages will be 11 : 20. What was the ratio of their ages 9 years ago?
2467263

SFHT IR FEP A BT A 341G FT IFA 1 : 2 ¥l 3 F 6 Y dlg, SABT MY BT 3RO 11 : 20 T 9 T Uget BT TG BT UK T AP

3:5
A

3:5

2:7
B

2:7

1:4
C

1:4

2:5
D

2:5

Correct Ans : D

Subject : Mathematics

Q.No: 63 Sunny is three times as old as his friend. 2 years ago he was five times as old as his friend. What is present age of Sunny?
2467290

Gt oA SRA F I T ST ¥ 2 99 gd S9! g oA i Bt oy bt ufg T ot T &t adHe g €2

12 years
A
1299
14 years
B
14 7§
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/42
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C 18 years
18 7
24 years
D
24

Correct Ans : A

Subject : Mathematics

Q.No: 64 Shivam's father's present age is 68 years, and his age is 3 years more than five times Shivam's age. What is Shivam's present age?
2467372

Rran & fdr 3} adur 39 68 @Y 7, 3R I 39 Riay &5t IJug F uid 1 A 3 o ot 31 Riaw @ adum 39 @ 32

14 Years
A

1499

15 Years
B

15 qY

13 Years
C

13 9§

16 Years
D

16 T

Correct Ans : C

Subject : Mathematics

Q.No: 65 The perimeters of two given squares are respectively 24 cm and 32 cm. What is the perimeter of a square whose area is the sum of areas of two givens square?
2467653

o U g it & i R 24 It 3R 32 Wil €1 S T 1 ufey @ § RraeT &atea U T &) ol & A o1 anT 87

45 cm
A

45 It

40 cm
B

40 I

32cm
C

32 3t

48 cm
D

48 It

Correct Ans : B

Subject : Mathematics

Q.No: 66  The roots of the quadratic equation p*+ 5p + 6 =0 are:

2467694
feara aftaRuT p2+ Sp+ 6 = 0%‘3@%:
3,2
A
3,2
-3,2
B
-3,2
3,-2
c
3,-2
D
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/42
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-3,-2

-3, -2
Correct Ans : D

Subject : Mathematics

Q.No: 67  Solve the equation: -

. 32x7 _2_3.€+x+5 +3%x46) _
@ g B
32x’ _2_3.\14x+6 £32046) _
{x=-3,-2}
A
{x=-3,-2}
{x=3,2}
B
{x=3,2}
{x=-3,2}
c
{x=-3,2}
{x=3,-2}
D
{x=3,-2}

Correct Ans : D

Subject : Mathematics

Q.No: 68  For what values of k will x? - (3k - 1)x + 2k? + 2k = 11 have equal roots?

2467810

k& fo IFT & fT 2 - Bk - 1x + 2k + 2k = 11 & TA RIER g2

9,-5
A

9, -5

-9,5
B

-9,5

9,5
(o}

9,5

-9, -5
D

-9, -5

Correct Ans : C

Subject : Mathematics

Q.No: 69 Ap angle measuring 250 is:
2468093 >

2500 | T DIV &:
Acute angle
A
Eskan
Obtuse angle
B
34 B0
[+ Reflex angle

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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e . St T g R g S R S S

ufeed BT

Right angle

AT

Correct Ans : C
Subject : Mathematics

Q.No: 70 In a right angle triangle, find the length of the hypotenuse, if the other two sides measure 16 cm and 63 cm.
2468180

TP TP Ay #, Ff 31 e I1d P, Al 9= 3 ymaii B AT 16 4 IR 63 T B

68 cm
A

68 It

75 cm
B

75 It

67 cm
c

67 It

65 cm
D

65 qiit

Correct Ans : A

Subject : Mathematics

Q.No: 71  Find the product of (a%) x (2a*?) x (4a?"):
2469843

(@) x (222 ) x (4a%") UAG J1d HIfTI

6a5?
A

6a?

4a®?
B

4a®?

8as?
c

8a?

16a%?
D

16a%?

Correct Ans : C

Subject : Mathematics

Q.No: 72 Find the value of the following:
2469989 (63 _ 502 S4n+45)+ (n+3)

fFafaf@a &AM Td BI:

(6n° - 5n*—54n+45)+~ (n+3)

{(n + 3)(6n + 5)

A
(n + 3)(6n + 5)
{(n-3)(6n -5)
B
(n - 3)(6én - 5)
C (n + 3)(6n - 5)
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 18/42
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(n + 3)(6n - 5)
(n - 3)(6n + 5)

(n-3)(6n + 5)
Correct Ans : B

Subject : Mathematics

Q.No: 73 What will come in place of the question mark in the following question?

2471932
(17)*° x (17)’ = 178
Fufafad vy § vy Rg & —ME ® T smem?
(17)*% x (17)? = 178
2.29
A
2.29
2.75
B
2.75
4.25
c
4.25
4.5
D
4.5

Correct Ans : D

Subject : Mathematics

Q.No: 74 The mean proportion of 1.21 and 0.09 is:

2473411
1.21 3R 0.09 HT HAUN I1d BT
3.3
A
3.3
0.33
B
0.33
3.03
C
3.03
0.033
D
0.033

Correct Ans : B

Subject : Mathematics

Q.No: 75 Ankur got zero marks in a word problem on linear equations in an assessment. The teacher knows that he can solve linear equations correctly.
2475420 The teacher ought to remark in his report

T HpeH & AT TR0 W Weg o B 3R Bl 4 i | Riges 51 § s 9 YR aefiovil 3 T &1 & 5 IR Gl g
reres @1 oot Roié & feumuft et anfew

h

Ankur has a problem in compr ding the language of the question though he can solve the equations

A PR YUY BT HTS T T A R §, T a5 Wil 3 59 IR o §
Ankur lacks concentration and hence has examination phobia

° SR T T T ¥ SR TR S Ttan wif §
Ankur is not studying and practicing at home

¢ P W | UTS R Mfew T R @

D Apkur has not understood the concept of linear equation completely

3P THIFHRU BT SAUROT BT G TRE & Tl GH T

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 19/42
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Subject : Mathematics

Q.No: 76
2475639

C

D

Which is not the step of inductive method?

BIF-TT TS fafdy T =0 781 82

Observation

Generalization
HHFIHRU

Execution

Testing and verification
T 3R T

Correct Ans : C

Subject : Mathematics

Q.No: 77
2475997

D

NCF 2005 emphasizes that

TRiTE 2005 39 @ W SR A ¢

Mathematics is just arithmetic along with numbers and number operations

TG Fae SO F Y-S G SR S S §

The curriculum must explicitly incorporate the progression that learners make from the concrete to the abstract while acquiring concepts
UreTadl # WY T ¥ 39 Wi Y M frar a1 2 o Riemdf saeRonel oy wid g o1 o 9% avd ©

Our children need to appreciate the fact that Mathematics study can only be effective through the tool of Science

AR T B T T P W A S Saxaasar 8 & T &1 sreraet o g & A § &yt & v @

There is no any need to make connections between Mathematics and other subjects of study
ST % o fawdl & fa ey M B HE saxadsar

Correct Ans : B

Subject : Mathematics

Q.No: 78
2480938

If K stands for ‘+/, S stands for '-’, T stands for *x’ and P stands for '+’ then 12 T 10 K 16 P 4 is equal to:

AREKPTHE + §, ST -}, THT o 'x TR PHT o '+ §, W12 T 10K 16 P 4 & W §:
120

120
34

34
124

124
116

116

Correct Ans : C

Subject : Mathematics

Q.No: 79
2481362

D

Which of the following is not a type of an experiment?
frafafed # & S @ 76 1 THR T8 82

Trial and Error experiment

e SR R R

Laboratory experiment

TRINTRITRT TRIRT

Natural experiment

Ui W

Hypothesis
aRPeaT

Correct Ans : D

Subject : Mathematics

Q.No: 80
2481450

A

Which of the following is most important for a teacher?

frofafed & 3 o9 o Riee & forg 9ad Aeagyf 32

Classroom discipline
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DT TR

Subject he is teaching
B

it farwg 9% gt XeT 8

Students of the class
(o}

TS BH

Time available for teaching
D

Rgor & fere Sueer wwg
Correct Ans : C

Subject : Mathematics

Q.No: 81  To grasp the meaning of the material is

2481750 gnyht o1 ofdf wHEH & W ¥

Comprehension

A

B Application

c Knowledge
IA

D Syqthesis
TAd

Correct Ans : A

Subject : Mathematics

Q.No: 82 which of the following is based on Vygotsky’s sociocultural theory?
2481823
fufifad & 3 o1 aariies! & IUeRIRGY Rigid W s 32

Operant conditioning

A
Reciprocal teaching
y e
Culture-neutral cognitive development
¢ HPRI-Te TS e
D Ipsigr;%é;;rning

Correct Ans : B

Subject : Mathematics

Q.No: 83 A student of V grade with ‘visual deficiency’ should be

2481845
=} v F 7 v IS 1 BH g ARY
helped with his/her routine-work by parents and friends
. it e el @ e Rt e
treated normally in the classroom and provided support through Audio CDs
2 4T & WA ¥ A TR fpar ok sifsd WSt & Arem & wemd waH
given special treatment in the classroom
¢ el # iy SuaR fear
D excused to do a lower level of work
e ¥R &1 B B BT 6T

Correct Ans : B

Subject : Mathematics

Q.No: 84 squires, Huitt, & Segars proposed that both classroom and school-level variables should be addressed. They adopted which of the following Carroll’s student behavior variable

2481907
R, g3 3R IR 7 wxaifad i i e ol pa WR & T Sl 3 Yaida far e afge) I Foafif@a & 3 f5 39 & o HaeR | 31 Su-mn ok 3 "yriie’l” & w0 & ¢ dea il
A %g;ortunity
B perseverance
Eedl
persistence
€ &
D engagement
TR

Correct Ans : B

Subject : Mathematics

Q.No: 85 A teacher should be involved in social activities—
2482302
o Rigi 1wt Tafafidl 3 e g =ifgu-

A seldom
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Pt - i

only when needed
B
P A U5 N
c very frequently
SRR
D never

Correct Ans : C

Subject : Mathematics

Q.No: 86 1f you win a lottery, what will you do with the money ?

2482325
Al aq dfed) sfia o €, @ a3 1 B2
Purchase a house
A
TS W&
Visit tourist places
° e R T YA HY
Purchase a car
¢ T PR G0
Open a school
D

T T Gl
Correct Ans : D

Subject : Mathematics

Q.No: 87  Pportfolio of Mathematics students can have

2482361
TR & TTE F1 AEHIRRN & Wear &
Record of assignments, worksheets, maths lab activity record, write-up of any mathematics model, mathematical posters and cards, any mew type of problei
made, etc.
A
srTETHC @1 Rapts, adite, Aew A ufdefadt Rets, flt oft udfeew Aisa @1 we-9m, Huifewa dRex ok &1, el +ft U &t v &1 v a1 fog g wmRieR el
Record of all class tests, unit tests conducted during the formative and summative assessment
B
TS IR A i & IR e T o ol W, 3o el 1 Rets
Record of his photographs, during and art work
Cc
I TR, ST IRA IR Fe I 1 RS
D Record of classwor%h%me\njork notebooks

Correct Ans : A

Subject : Mathematics

Q.No: 88 “Measurement means the description of data in terms of numbers” is said by

2482463
Ig 7 34 § e % Teul A Ser o1 fdaRur b gR1 @ T
A Bradfield
J.P. Guilfold
B
ot el
Campbell
c
Foad
D Ste_vens

Correct Ans : B

Subject : Mathematics

Q.No: 89 The first step of micro-teaching cycle is

2482710
G TR0 T56 BT JuH WO 7
Demonstration of skill

A DI BT T
Micro-lesson plan

8 & UIS Ao

C Defining a specific skill
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o TR e @) wiola s

All of the given option
Ry g o fawea

Correct Ans : B

D

Subject : Mathematics

Q.No: 90 A rat will learn to run in a maze even if he is not reinforced for the response, this happens in

2482825 yfyfirr & forg woigd 1 € TR+ TET @R § HFF W S, TE o g @
Insight learning
A
Tteor SR e iftrTy
Trial and error learning
B
St siftrm
Latent learning
C
T ST

D Conditioned learning

Correct Ans : C

Subject : Mathematics

Q.No: 91 Who first used the term biodiversity?

2470098
Sa fafderar wreg 1 waRT wduuw e -
Newton
A
e
Walter G. rosen
B
qreeR ot W&
Watson
C
qegT
United Nations organisation
D

TG A HY
Correct Ans : B

Subject : Environmental Study

Q.No: 92 In comparison ordinary water, temperature of sewage is

2470201
R ST Bt e NI ST BT AT BNell B-
Slightly lower
A
drs] HH
Slightly higher
B
s Sl
Same
C
|HA
Very higher
D
wgd Sl

Correct Ans : B

Subject : Environmental Study

Q.No: 93 In order to help educationally backward child it is necessary for a teacher to-
2470308

AeF = § 5 71 31 Tgrar & R e Ries F e ag siawgs 3-

A Find out the cause of his backwardness
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I NGSUA FT SR ST
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Refer him to other competent teacher
B

I 3 G Rige F U Ve

To avoid such student
C

VX T B ST

To change his class
D

IHD! P TG
Correct Ans : A

Subject : Environmental Study

Q.No: 94 Which of the following method is not based on learning by doing?

2470418
frafafed # 3 319 9 fafy 7% WRe W sneria 78 2
Demonstration
A
EEic]
Project
B
e
Problem solving
C
FHET JHY
Lecturing
D
e

Correct Ans : D

Subject : Environmental Study

Q.No: 95 High biochemical Oxygen demand in water leads to

2472058
ot F 9= 99 e sifeiier w3 eiR S @
Increase dissolved oxygen
A
T SRR g
Decrease dissolved oxygen
B
T SffeRfier werd
Increase rate of photosynthesis
C
TN URAYT BT X H
More birth of aquatic plants
D

S delt 1 Sifie o
Correct Ans : B

Subject : Environmental Study

Q.No: 96 The first alkali act was passed in 1863 by royal commission to

2472111
TRl &R SRR 1863 H RMEH T GRT 941 iike fear T U
Control water pollution
A
T WGHUl H EfE B
Set the limits of acid discharges in waste gases
B
e et & oS R &t i Fuffa %
C Control the sewage discharge into the water bodies
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st Ferdl 7 <iaw & Fde @ Ffya %

Limit the discharge of hot water from power plants

fororelt <eiEt @ v urt & e 3 Wi B

Correct Ans : B

Subject : Environmental Study

Q.No: 97 The average temperature of Chennai, on the eastern coast, is between;

2472230
% 1 ST aouHE, g 9 R, F A9 T
30°- 45° Celsius

A
30°- 45° fcaad
10° - 15° Celsius

B
10¢ - 15° Afeas
24¢ - 25° Celsius

c
24° - 25° Afewag
50°-55° Celsius

D

500-55° afeaaw

Correct Ans : C

Subject : Environmental Study

Q.No: 98 Which is termed as unsaturated zone, the part of Earth between the land surface and the top of the phreatic zone, the position at which the groundwater is at atmospheric pre
2472341

RO oRiqa & e o §, Y 1 Taie SR TRfew &7 & i & g gt &1 few, forg Rufa & oo argweeiia game & giar @

root zone
A

g &

horizon zone
B

faferet &=

vadose zone
C

EISEEES

fresh water zone
D

i Tt &1 A
Correct Ans : C

Subject : Environmental Study

Q.No: 99 Plants with green and tender stems are called?

2472514
IR B o A G Far 87
Shrubs
A
EUS
Herbs
B
ESEC]
Trees
C
LS
D Climbers
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 25/42
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¥

Correct Ans : B

Subject : Environmental Study

Q.No: 100 Which vitamin is destroyed by polishing rice?
2472894

A1 B U A F P A e g 8 S 82

Ascorbic acid

A

Ti® TS

Calciferol
B

Fefifa

Xerophyte
€

TRIBEE

Thiamine
D

ojfafiT

Correct Ans : D

Subject : Environmental Study

Q.No: 101 With which country did ISRO partner to come up with Satellite Instructional Television Experiment (SITE)?

JUUR IYSHE Ceitfaor GeUl (Frse a1 SITE) & o 361 7 frv <=1 & a1y e

2473878
USSR
A
USA
B
WY U AR
UK
C
7.
France
D
i

Correct Ans : B

Subject : Environmental Study

Q.No: 102 Which of the following was India’s first synchrotron that was commissioned by the Raja Ramanna Centre for Advanced Technology?

Tl e i e B

e & § SF YR B ygar Risbie o RS/ e 0a1 W Weifie! $ grr HiRE fhar mn a1

2473953

Indus-1
A

$s9-1

India-1
B

§fear-1

Bharatron-1
c

HRAA -1

Synco-1
D

Rl -1

Correct Ans : A

Subject : Environmental Study
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Q.No: 103 Which satellite is India's first indigenous geostationary communication satellite?

2473998
B U1 IUUE URd HT Ugdl W YRR IR 3w 87
APPLE

A
TWd (APPLE)
ORANGE

B
3RS (ORANGE)
RED

C
I8 (RED)
GRAPE

D
39 (GRAPE)

Correct Ans : A

Subject : Environmental Study

Q.No: 104 In which year the first United Nations Conference on the Exploration and Peaceful Uses of Outer Space (UNISPACE) was held ?

2474210

1 SfaRe & a0 iR Wifergef STERT W ugen $gE Y W (UNISPACE) ford af smaifsra fasan mar ar

1967
A

1967

1968
B

1968

1978
(e

1978

1997
D

1997

Correct Ans : B
Subject : Environmental Study

Q.No: 105 Which of the following is not a rabi crop?

2475819
fofafad & @ o & @) waa T8 72
Wheat
A
g
Peas
B
AX
Moong
C
3
Gram
D
=

Correct Ans : C

Subject : Environmental Study

Q.No: 106 The Mega Food Parks scheme was launched by the Ministry of Food Processing Industries in which of the following years?
2475876

Frofafed ¥ @ 5w af § @y TR0 SERT HAT gR1 A § Uld Al P B T A
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2005
A

2005

2006
B

2006

2007
C

2007

2008
D

2008

Correct Ans : D

Subject : Environmental Study

Q.No: 107 From which country has the game of Kho-Kho originated?

2476447
G-I & G B Lol py e A g 22
India
A
R
Sri Lanka
B
Piccal
Malaysia
c
R
China
D
LIk

Correct Ans : A

Subject : Environmental Study

Q.No: 108 In the game of badminton, how many feathers should be there in the shuttle?

2476480
Fsfiie & T # e A foberft U g amfew?
20
A
20
12
B
12
18
C
18
16
D
16

Correct Ans : D

Subject : Environmental Study

Q.No: 109 Who became the youngest competitive swimmer in the world when he qualified at age 10?
2476536

10 1A 31 39 B BIAGE TR W 1 &1 Ta 1 39 31 Hfavad§ R S 712
Michael Phelps

EFH e
B Alzain Tareq
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e qiRD

Ryan Lochte
c

A A

Ian Thorpe
D

T U

Correct Ans : B

Subject : Environmental Study

Q.No: 110 Which of the following is/are correct step/s with respect to creating an effective lesson plan?
2477358

1.Plan the Introduction and the Specific Learning Activities

2.Create a realistic timeline

Choose the correct code.

TF GUI UI6 AT SF & Sy B e § & oF a8 98 $ed 8/8?
1.3ama SR faR siftem wfofafei 1 demr s

2.0F dRAfdd GHaREr &Y

@ B T

Only 1

Fad 1
Only 2

Fad 2
1 and 2 both

1 3R 2 g

Neither 1 nor 2

AR 2

Correct Ans : C

Subject : Environmental Study

Q.No: 111 Which of the following is a glass chamber in which plants are grown to provide them warmth by trapping sunlight?

2477888
frofafed & & S W TP Hid &1 Fe a1 IR g o el 31, g F v : 1l yem S & forg I o 32
Green house
A
Peraw
Plantation chamber
B
AR FEf
Sunlight chamber
c
T DI AT T
Glass house
D

RSIG R EE
Correct Ans : A

Subject : Environmental Study

Q.No: 112 What percentage of the world's population was living in urban settlements in the year 1800?
2477934

Ty 1800 H fay &t sFEEN $1 favaan ufowa TR afkl § T8 87 u1?
A 5%
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5%

20%
B

20%

3%
c

3%

11%
D

11%

Correct Ans : C

Subject : Environmental Study

Q.No: 113 The process in which complex organic matter is broken down into inorganic substances like carbon dioxide, water and nutrients is called what?

I8 Ufsran gl wifed s1dfe verd o1e SReiiass, ur ok Uive dadi of S ugrdl # Tfed 81 o1d €, 1 Heand 82

2477962
Composition

A
A (FHISIR)
Decomposition

B
3y (SpImisier)
Organification

C
TS (3iiwiser)
Nutrification

D
QT (R HH)

Correct Ans : B

Subject : Environmental Study

Q.No: 114 Which of the following is a process by which information is obtained relative to some known objective or goal?

2478494

i i i

frofafed & & 9 F-0 uitsan 3 fors R 5t verd o1 e I wwefid o1 o ura ot aRht 32

Measurement
A

AU

Evaluation
B

D

Assessment
C

b

Estimation
D

SIgHH

Correct Ans : C

Subject : Environmental Study

Q.No: 115 Which of these is/are the part of sensory preference?

2478499
1. Visual

2. Auditory
3. Tactile

Choose the correct code -

3 A PH-T/Y YAt ar $1 fgww g/2?

1.2
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2. a0

3. W
e IS I -
Only 1 and 2

Pad 1 &R 2

Only 2 and 3

Fad2 3R 3

Only 1 and 3

Fad 1 3Rk 3

1,2and 3

1,293R3
Correct Ans : D

Subject : Environmental Study

Q.No: 116 Observable behaviours are mainly of two types: elicited behaviour and
2478532

SHAAFH FIER TBT FY F & YR & g &: VI foban Ty FHasR iR

Omitted behaviour

A

BIST T aER

Emitted behaviour
B

feTe T EeR

Explicit behaviour
(&

WY AqER

Implicit behaviour
D

fAfea sraerR

Correct Ans : B

Subject : Environmental Study

Q.No: 117 Which of the following specifically falls under social competency?
2478602

e & & oF-a1 fady Tu & Amifie gaar & siarfa sar 82

Self evaluation

A
W Yedich
Leading discussions and conversations
B
waf 3R sTada R
Efficient use of information
C
I P G ST
Conducting observations
D

S BT

Correct Ans : B

Subject : Environmental Study

Q.No: 118 Which of the following is the full-form of a DVD?
2478604

9 & § Hi-a1 SL@E (DvD) 71 3of FU @2

A Digital Versatile Disc
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feforea adferzw foww
Direct Video Disc
B
e e feww
Disc on Video Drive
C
&% off7 difSa gr5a
Digital Visual Drive
D

feferca fagem g=a
Correct Ans : A

Subject : Environmental Study

Q.No: 119 Which among the following is a metal present in liquid form?

2478655
fofafed & & o W 5a siaxyr § urg o ardt o1g 82
Lead
A
e (ds)
Mercury
B
arT
Silver
C
ict
Zinc
D
ST

Correct Ans : B

Subject : Environmental Study

Q.No: 120 Which of the following is NOT a feature of anecdotal records?

2478676

Frofafed ¥ § FH-91 evid (sPaeled Rargy) #t faLiar et &2

It should include significant descriptions of performance of the children, which otherwise would have gone undocumented.
A

o S & WexiH & Hewayy faavur i 8 =S, S s g et 6l S

It should be lengthy to include every detail written in a descriptive way.
B

JUAIHS T 4 R ¢ 7d fFaror o =i B & g 7g dan g =i

It should include significant descriptions of behaviour of the children, which otherwise would have gone undocumented.
c

TR ¥l & HaER & Heayyl fraor nfie € wifdy, i e gf e frd S

Mostly qualitative descriptions are recorded
D

TSR U FaR0T 5o fbg o €1
Correct Ans : B

Subject : Environmental Study

Q.No: 121 Pre childhood is:

2473585

4 SIeTaRT §:

State of subjugation
A

siefiar o fRufa
B State of sensitivity
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Antecedent state
(o]

el Ry

Dangerous state
D

o R
Correct Ans : C

Subject : Child Developement

Q.No: 122 A collection of a student’s work in an area showing growth, self-reflection and achievement is known as

2474333
forait & & foreht T & Pl 1 TR o 9, SMe-viafaT ofR SUaf B M A I .o S S
assessment
A
STHTT
judgment
B
SR
portfolio
C
ki
cumulative record
D

Krificas]
Correct Ans : C

Subject : Child Developement

Q.No: 123 What type of questions promote thinking skills in children

2474406
g UeR & wy I A Ve F DING B T 87
personal response questions
A
SfeRTTTel Wfcifshar Uy
closed-ended questions
B
FirS-G3S 0%
factual questions
€
TS 9
questions based purely on the reading text
D

guid: Yo+ UI6 W aenia Wy

Correct Ans : D

Subject : Child Developement

Q.No: 124 Match the following

2474649

Column | Column |l

L Preoperational stage A. Able to solve problems and give reasons on the bals of
hypothesis and prepositions

1 Sensory motor stage B. The vague and nebulous concepts of the pre-school years
become specific

ue Formal operauonal state C. Preparation to the period of logical thinking and operations

. Concrete operational state D. Modification of existing mental structure to fit new
parception of the environment

v Assimilauon E. Child learn to control his body in space which is also a part
of reflexes

Vi Acconunodation F. Incorporating new elements from environment, into
already existing mental frame work

Faffea 3t faamg
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g R e S T g PR gyl SRS

i. @-"awa wor A. i@ e 3R TEE & WUR W AR
F 7 A AR FRoT Tq F AR
ii. F¥EemwE aor B. qdwgelt adt & areave R Yueht sraumone

Rrfdrez g o §

iil. 39t Itoaite WheaTRE sEE

C. aff&s |ig 3R dawa & Fafr A =y

iv. H WhraweTe e

D. 3t srauRon & v A AR w=@AT
FT TN

V. HTHATHIT

E. a=ar 39a iR & Raba stan digar §
& sdRaw frar &1 M v smT

vl. FARSE

F. 931aRor ¥ AT aedl & g ¥ Aig AfE
T A anfrw wen

i-b, ii-e, iii-c, iv-f, v-a, vi-d

A
i-b, ii-e, iii-¢, iv-f, v-a, vi-d
i-c, ii-e, iii-a, iv-b, v-f, vi-d
B
i-c, ii-e, iii-a, iv-b, v-f, vi-d
i-e, ii-d, iii-d, iv-c, v-b, vi-a
c
i-e, ii-d, iii-d, iv-c, v-b, vi-a
i-a, ii-b, iii-c, iv-d, v-e, vi-f
D

i-a, ii-b, iii-c, iv-d, v-e, vi-f
Correct Ans : B

Subject : Child Developement

Q.No: 125 What kinds of errors are common between a learner who is learning his mother tongue and the learner who learns the same language as a second language?

2476112

AT W TR el ol e T Ramdf o 39w A g e F w F e R 9, I 69 59 voR 31 3Rl ad §2

Overgeneralization

A

Sff-rriio

Simplification
B

Risicau

Developmental
c

fare wadt

Hypercorrection
D

RSB

Correct Ans : C

Subject : Child Developement

Q.No: 126 What should be the role of the teacher in reducing the effects of individual differences?

2476298
1. the teacher should try to adjust the curriculum as per the individual’s needs
2. the teacher should try to understand the abilities, aptitudes, and interests of the students
SHfdaTa fafmaiedt & gHE B 9T H ST B 1 fPRER gl Afe?
1. ATIS Pl THF B Gl S SIUR UIGd T91 B THOH S D1 IR el AT
2. 3T @ et @) fgursh, dradel ok Tl 3 aHem @ g S 91ty
Only 1 is correct

A
Faa 1@
Only 2 is correct

B
Faa 2 TR
Both 1 and 2 is correct

c

1R 23w E
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D Neither 1 nor 2

T LRTE2

Correct Ans : C

Subject : Child Developement

Q.No: 127 According to Piaget, the ability to think logically about abstract propositions is indicative of the stage of
2476695

e & AR g RIS & aR § afde TU A AT 3 edl 39 Sl B TP ¢

Preoperational thought

A
are[ & gd & R
Concrete operations
B
B e
Formal operations
C
fo=ies e
Sensorimotor intelligence
D

Fafiez 2fercia
Correct Ans : C

Subject : Child Developement

Q.No: 128 Which of the following is NOT an element of democratic environment in the class?

2476841

0 7 & 39 Fan § Aedite aamaRu B 9  Tol 67

Make the child feel responsible for their own learning
A

o2 % @ F deT F Rig Riar 7698 G

Teacher to decide on all the matters of learning of the students
B

B & I & it amelt w Pofr @ & e Riee &

Encourage the children to decide what to learn
(e

= BT 98 T IR F g veataa X 5 @ e §

Provide the students with opportunities to become active learners
D

BT B WP Riamdf 1 & SR Hem BY

Correct Ans : B

Subject : Child Developement

Q.No: 129 Intrinsic motivation refers to:
2476889
1. Motivation exists within the individual.

2. Motivation that results in high-quality learning and creativity.

SffaRes IR HT qd B
1. IROT S fdd & iR T it 71
2. IR % IRUFREEY S TUraw e i 3R ETeTE gl B

Only 1 is correct

P LT

Only 2 is correct

FIA2 W@ T

Both 1 and 2 is correct

1R 29w

Naithar 1 nae 2
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SIS L vl £

A1 AR 2

Correct Ans : C

Subject : Child Developement

Q.No: 130 According to which of the following should a good teacher decide on his teaching methods for an effective teaching-learning process?
2476902

& T Riawr-oiftem wfh & T we oS e &1 Fafefad 7 4 fead orgar et R faftdt w fofa e =nfee?

According to social knowledge

A
I T & STER
According to his personal knowledge
B
S T T & AR
According to his past experiences
Cc
3 d Syl & SFER
According to the individualistic differences of the children
D

T & Afdas Praarsll & SgurR

Correct Ans : D

Subject : Child Developement

Q.No: 131 Analyze the statements and chose the correct options
2477430
Statement (i): Emotional disturbances in the mother can produce chemical changes which may be responsible for both structural and psychological abnormalities in the grow

Statement (ii): Drugs administered to the mother during pregnancy may pass through the placenta and affect the fetus

Tl B fagewor s 3R F fawed g
HYA (i): AT F IS Sify e uRad S o) Gt § St fAeria yor § TRaFds 3R AHIai=G Gl SRmdist & g Rrier & a@d 8.
HYA (i) IR & SRE AT Y < T aTelt Gag AT S St € SR YT BT WM B) el §

Both the statements are true

Sl P TE &

Both statements are false

Sl B 3T B

Statement (i) is false and (ii) is true

T (i) T B SR (i) o B

Statement (ii) is false and (i) is true

U (ii) T & 3R (i) ST 7
Correct Ans : A

Subject : Child Developement

Q.No: 132 Who out of the following is the author of “Society and the Criminal”?

2477674
frofafed & & o9 Ored (S T fefma & dus 82
Dr. J. M. J. Sethna
A
. AL T
Jean Piaget
B
wif aat
Paul Bloom
(&
it s
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D Virginia E. Johnson

Teffteran €. SR
Correct Ans : A

Subject : Child Developement

Q.No: 133 Which of the following statements is incorrect about bullying?

2477697
IR (S & R # Fofif@a & § o1 W o9 7o 32
Bullying can be easily detected by teachers as it is a very visible act.
A
et (SeEm) o1 var Rt gRT S & @ S Yobar & Fiife 98 U 9gd o exauH ol 81
Bullying can be carried out individually as well as in gangs.
B
eI (geligm) afdera w9 F iR Afedt () & ot 3 o Wt 71
It's not necessary that the victims of bullying shall be younger than or of the same age as the bullies.
C
g Tl T8 § 5 qraft (geftsm) & RoR, Seifit sardl of 39 & 0 a1 St 9w & §
Bullying not only affects the victims but it also affects the bullies’ future.
D

T (gefism) 7 Faet Akt o wfda et | ofer g8 aai FRAarel & ufass o o wafda Fdt 81
Correct Ans : A

Subject : Child Developement

Q.No: 134 Which of the following can be an outcome among children who have fallen prey to substance-abuse?
2477706

1.It may lead to HIV infections.

2.1t may lead to thefts and other grave crimes.

Choose the correct code -

e ol & Ja & RoR 7= 7 Fofif@a § § @ w1 oiomm g a@a 32
1. TG TIIAES AeHAY § FhaT B

2. 300 I 3R 3 TR SRy | 9w B

W e g -

Only 1

Pad 1
Only 2

Pad 2
Both 1 and 2

T 1 ek 2
Neither 1 nor 2

T 1 aRAE 2
Correct Ans : C

Subject : Child Developement

Q.No: 135 The Juvenile Justice (Care and Protection of Children) Amendment Act, 2021 has amended which of the following of the 2015 Act?
2477772

IR =g (=t Bt SRauTa SR TRewn) WRieE oiffagm, 2021 3 Fafafed § § fF9 2015 sidfm & Sxiuw foar g2

Heinous crimes

A
SO ORIy
Serious crimes
B
TR SRy
€ Petty crimes
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BT SRy

Both petty and heinous crimes

IR SR TE=T Gl TRE F Ry

Correct Ans : B

Subject : Child Developement

Q.No: 136 In inclusive education system, the teaching methodology, assessment and evaluation procedure should be made
2478156

Frrash g gomeh #, e usfa, Yeaie o) geaiea uiar 3T S =IfRe
Fixed
A
s
Flexible
B
ek
Uniform
Cc
THHAA
Standardized for all the schools
D

ot et & R weiEd
Correct Ans : B

Subject : Child Developement

Q.No: 137 Which of the following is NOT a warning sign of early childhood developmental delay?

2478277
Frafefaa & 3 S IRite auu F e e o1 et S T8 82
No reaction to loud noise
A
A SfTETel TR AR T &
Can’t reach for toys or grasp them
B
il 7o Té uga T a1 9% A TS
Is not scared of strangers
C
STl F i 7 g
Can’t pick up small objects
D

B FEgsit B 7 For U

Correct Ans : C

Subject : Child Developement

Q.No: 138 Brainstorming methods work very effectively with --------=--sccceeeeeue- children.
2478355
SRS 1 R = & Y 9gd THTd € A I Fa B
Talented
A
g
Creative
B
RCEIGED

Intellectually bright

c
T ¥ I Isa@
Delinquent

D
SORTER
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Correct Ans : B

Subject : Child Developement

Q.No: 139 Which of the following criticism is not correct regarding Kohlberg’s theory of moral development?

2479273
Figaa ¥ e e ¥ gk » gdy § Ao § § 39 @ s a8 T8 82
Overemphasizes justice

A
W R SR I
Age bias

B
3T g
Race bias

c
e s
Cultural bias

D

gl gl
Correct Ans : C
Subject : Child Developement

Q.No: 140 Which of the following is the Stage 5 of Kohlberg’s theory of Moral development?

2479275
fofafed ¥ 3 $F dga & s Tom F Righ #1582
Punishment/obedience orientation
A
Fen/araTRIRar sifafaeara
Good Boy/Nice Girl orientation
B
ITOT TSR3 asahr AfAfamarT
Legal orientation
C
B i
Social contract orientation
D

AT Sray Sty
Correct Ans : D

Subject : Child Developement

Q.No: 141 As per the law of effect as laid down by Thorndike, when a response is followed by which of the following, the consequence is more likely to be diminished?
2479348

yfeR® gr1 Pufika uHE & Fan & sruR, oia Fofafed & feud grr ufafear &1 ureH fasar s g, @ oo & &0 8 9t Gure aifde 3kdt 32

Positive
A

HRIAD

Pleasant
B

RiL)

Negative
o]

APRIAD

Neutral
D

qey

Correct Ans : C

Subject : Child Developement
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Q.No: 142 denotes the pleasure or pain dimension of emotion.
2479970
_ Y guE-ga o el &t Pfdy o f1
Anger
A
Py
Feeling
B
KICEN
Mood
C
1 Rufy

Excitement

ST

Correct Ans : B

Subject : Child Developement

Q.No: 143 Beliefs, failures and expectations are the are the important influences in which of the following approaches of motivation?

2480035
T, e iR ardemy, sifiRon % Fafifed ¥ & e eem § neayf e 82
Behavioral Approach
A
agie B
Humanistic Approach
B
G ERHI
Cognitive Approach
C
WIS ERBIO
Socio-cultural Approach
D

IS -TRGII® BT
Correct Ans : C

Subject : Child Developement

Q.No: 144 Discrimination will the process of emotional development of the girl child in school.
2480101
NGUIT Gl | AIfASIST & HiaTTdHS [t i ufssd o1 Eaul
Enhance
A
TR
Motivate
B
Seafed
Hinder
[o}
it 3w
Neglect
D
Jqar

Correct Ans : C

Subject : Child Developement

Q.No: 145 The Innate Language Theory by Noam Chomsky was devised on the Language Acquisition Device and

2480287
T AP ERT S T Ry, T e Jua ok TR R o mar A
A Universal Grammar
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it Bl

Behaviour reinforcement

AER GediHu

Parental language input

SHTUHIAHTT HTST $TYC

Cognition
W

Correct Ans : A

Subject : Child Developement

Q.No: 146 Gender discrimination in schools should be resolved through

2480288
fererrerdlt # féimie & T g Aol
Egalitarianism approach
A
HHMAAEKE SUFTH
Mutual approach
B
RER 39U
Dual approach
c
f&e S
Unified approach
D

THPd SUTH
Correct Ans : A

Subject : Child Developement

Q.No: 147 Which among the following is not the function of diagnosis process used in assessing readiness levels of learners?

2480387
Frofifad & 3 $F-1 Rienfdl $t St & TR 31 1o $A 7 TG Fee uima o1 R T8 R
Classification
A
aiffeor
Observation
B
MERicE |
Remediation
C
JTER
Etiology
D
Eaichn

Correct Ans : B

Subject : Child Developement

Q.No: 148 If a child fails to perform well in the class test leads us to believe that -
2480624

Ife P T H&T S e H DT VSR TeT HRa1 § o TG §H Ay el ¢ -

There is no need to reflect upon the syllabus, pedagogy and assessment process
TSR, T SR Hedich Uithar 1 wfafifda o B B¢ snawaear T &

B Children are born with certain capabilities and deficits
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o= PO &St 3R Sl & ar dar 9 ¥

There is a need to reflect upon the syllabus, pedagogy and assessment processes

UTSTHY, HEG AR Tedich Hibarai P wfafsifya wxa Ft aiasawar gt §

Some children are deemed to fail irrespective of how hard the system tries

Rrew fraet g &% a1 € 390 PRy $o w=i @ argeitvl Gogn o €
Correct Ans : C

Subject : Child Developement

Q.No: 149 Being a teacher you always focuses on following a pattern in your class while making the learners to understand and learn the concepts i.e., to remember, understand, apply,
2480745 gomain of Bloom's taxonomy do you follow?

o e g9 F A1 oy Rignfiai o1 e 3@R, FueE, A aR, RN SR, Yeidd $R9, GO 3 SaURoT G SR R & R wan § e Yo o uieH A R 9 Hikd $d g1 9 ¢

The affective domain

A

HETHS JHET

The cognitive domain
B

IS TS

The psychomotor domain
C

RS TEAA

None of the given options
D

faq g faedt # § B T

Correct Ans : B

Subject : Child Developement

Q.No: 150 According to which law of developmental direction, development spreads from head to toe?

2482174
T o 3 o FrTw & SRR, faer RR & Wi oo Fovgal gl 82
Cephalocaudal law
A
Retpeiregsa fram
Proximodistal law
B
vt fraq
Patterned law
(G
e &1 fram
Head and Toe Law
D

RR ¥ g &1 fram

Correct Ans : A

Subject : Child Developement
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